ELECTRONICS £O0O. o

EMERGENCY VEHICLE SOUND, LKGHTING & EQUIPMENT

2018 Ford Explorer Utility Visor Light

923-0106A
For FCV

INSTALLATION MANUAL

Contents:
Parts List 1
Installation Instructions
Warranty & Product Return Policy----------- 4
Item # Part # Description Qty
1 923-0106A 2018 Ford Explorer Utility Visor Light 1
(923-0107A)
2 823-0273A Mounting Bracket 1
(823-0274A)
3 823-0266A Adjustable Bracket 1
4 P723-0002A Adjustable Back 1
5 P723-0003A Extension Piece 2
6 401-0052 10-32 Machine Screw 5/8” Zinc 2
7 403-0010 #10 Lock Washer Zinc 2
8 401-0025 1/4-20 Hex Bolt 1” Zinc 2
9 403-0011 1/4-20 Star Washer Zinc 2
10 403-0005A 1/4-20 Flat Washer Zinc 2
11 422-0009 1/4-20 Nyloc Nut Zinc 2
12 402-0005 1/4-20 Hex Nut Zinc 2

REV July 31, 2019




INSTALLATION INSTRUCTIONS
Step 1

Vehicle Preparation
1. Remove the factory visor clips leaving the mounting points open

Step 2

Mounting Point Preparation

1. Use the factory hardware to install the
mounting bracket to the visor mounting
points.

Step 3

Visor Light Preparation

1. Slide the two 1/4-20 Hex nuts into the back of the
“Adjustable Back” plastic piece.

2. Place the two small plastic pieces “Extension Piece”
into the cutouts of the “Adjustable Bracket”.

3. Place the extension pieces over the ends of the ad-
justable back and make sure to line up the slots. This
is used for consistency, but if you are having fitting
problems can be adjusted.

4. Use the two 1/4-20 star washer and bolt to secure
everything together. As can be seen in the photos.

5. Its recommended to tighten this 1/4-20 bolt
rather than leave it loose because in the next
step the visor is pressure fit to the glass




6. This entire bracket
system can then be
mounted onto the visor
shrouds using the two 5/8” 10-
32 machine screws and lock
washers.

Step 4

Visor Light Installation

1. Use the 1/4-20 nyloc nut and
washer to secure the visor
light to the roof mounting
bracket. This again has ad-
justability and can be moved
for best fit. This will be a tight
fit to ensure the pressure
keeps the visor sealed against =
the glass. -

Step 5

Wire Routing

1. The wires leading out of the
visor run into the headliner to
keep them from being visible.

Step 6

Adjustments

1. The visor light should fit securely up to the glass with no light leaks in all of the neutral positions.
If something is not fitting properly there are many forms of adjustments that can be made to en-
sure that the correct fit is made. These are the rotational adjustments from the adjustable back
and the movement with the mounting bracket.




55 entants peuvent dtre tués ou gravement bieceas .| = (F EC TIONNES
Le sitge arriere est la place 1a p\u". :ivm-“'v”l Flon antoran 12 53 gontiable
Ne placez jam ant un siége d'enfant fa
s ceintures de sécur g
e Guide du
\es sacs gonflables,

\NCLUSIVE CON LAS NUEV,

- Los nifos pueden result

nt face a I'arriere
1té et les dis

s s dispositifs d
Propriétaire pour des renseignements

Pvurs g maneuvers
and Excessive Speed.
Always Buckle Up.
See Owner's Mamual
For Further Information

A AVERTISSEMENT: risoue ACCRU DE CAPOTAGE.
Eviter los manoeuvres brusques ot los vitesses excessives.
loujours boucler sa celnture de sécurité.
Consulter le Guide du propriétaire pour de plus amples renselgnements.

A ADVERTENCIA: maYoR RIESGO DE VUELCO.
Evite las maniobras bruscas y las velocidades excesivas o
Abrdchese siempre ol cinturdn de sequridad oo

Para mayor Informacion vea el manual de usuarlo

e retenue pour enfant
concernant

‘AS‘BOLSAS DE AIRE

e afectados por las bols aire,

9ar mas seguro para los nifios. I

I[\n]m(r.\n(ln hacia atras” en el asiento di
ad y los sujetadores if )

Aruttn otz 0 ni

del usuario por mas informacion sobre Dnr;\:H; e air

de aire.

WARRANTY

D & R Electronics warrants its new products to be free from defects in material and workmanship, under normal use and service, for a period of
lone year on parts replacement, and one year on labor.

This warranty applies only to original purchasers acquiring the product directly from D&R Electronics, or its authorized dealers. Warranty will not
be recognized without proof of purchase or bill of sale. This warranty is not transferable.

The warranty begins on the date of delivery to the first user/purchaser. This warranty shall not apply to products which must be repaired due to
normal wear and tear, negligence, improper installation, abuse, misuse, or which have been

altered or modified at a facility other than D & R Electronics, or its authorized depot center. Units proved to be defective within the warranty
period, based on an examination by D&R Electronics, will be replaced or repaired at D & R Electronics’ option. This warranty does not cover
travel expenses or labor charges for removal or installation. Lamps, flash tubes, batteries or other items considered consumables are not cov-

lered under warranty.
This warranty is in lieu of all other express warranties. D&R Electronics makes no other warranties, expressed or implied, than the express

PRODUCT RETURN POLICY

In order to provide you with faster service, product returns for repair or replacement, must have a Return Goods
Authorization Number (RGA number). Please contact our company to obtain a RGA number before you
return the product to D & R ELECTRONICS. Write the RGA number clearly on the package. Be sure you use suf-
ficient packing materials to avoid damage to the product being returned while in transit.

D & R ELECTRONICS assumes no responsibility or liability for expenses incurred for the removal and/or the in-
stallation of products requiring service and/or repair. Repairing or replacing product is at the discretion of D & R

ELECTRONICS.

D&R ELECTRONICS Co. LTD.

CANADA USA
8820 George Bolton Pkwy. 2299 Kenmore Avenue
Bolton, Ontario L7E 2Y4 Building 3, Doors 11-14
Tel: (905) 951-9997 Buffalo, New York 14207
Fax: (905) 951-0019 Toll Free: 1-800-538-7338

www.dandrelectronics.com

4



